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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
Part A 6952 16.9 4.6 29 58.2 100
Part B 6951 10.4 3.2 20 52 100
Part C 6937 6.1 2.4 11 55.4 99.8
SPaG 6938 1.9 0.8 4 47.6 99.8
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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(iii)	 Give one other piece of map evidence that may help to explain why the Peak District 
National Park has a large numbers of visitors. Explain why it may help.	 [3]

Evidence:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

Explanation:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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Sticky Note
There isn’t enough elaboration of the nearness of the cities for the third mark. It would have needed something like, ‘cheaper’, ‘quicker’ or ‘easier’ to travel there for the third mark.




Sticky Note
The second mark is for naming at least one of Manchester, Sheffield or Birmingham.



Sticky Note
You need to say more than just ‘large cities’. Some reference to being ‘close to’ them is also needed to attract the first mark.


Sticky Note
The previous question on the paper was about the importance of motorways for people accessing the Peak District National Park. Some candidates wrote about these again....... and obviously gained no marks for doing so. The other clear piece of map evidence is the cities that surround this National Park.
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Sticky Note
Why will they be more likely to go there? Because it’s cheap, easy, quick to get there....... This isn’t stated, nor are the cities named so no further marks are awarded. 


Sticky Note
By stating that these are 'large' cities they have already suggested that there are 'a lot of people' so this is just repetition of the first mark so is not credited again.


Sticky Note
This is another way of stating, ‘close to’ so is worthy of credit for one mark.




(4242-02) Turn over.
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	 (b)	 Quarrying leaves large holes in the ground. Blasting the limestone and carrying it away 

from the area may cause villages and roadsides to be covered in a layer of grey dust.

Working in a damaged landscape can badly affect other businesses. The graph below 
shows how much some Peak District industries are affected by quarrying.

(i)	 Complete the graph using the following figures:	 [2]

© WJEC CBAC Ltd.
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Sticky Note
Each bar is shaded correctly according to the key, so the second mark has been credited. The use of colour is very important on maps and graphs. If any shading by the candidate had, for example, been in green or red ink the mark for shading would not have been awarded.


Sticky Note
Each bar is at the correct height. The candidate appears to have used a ruler resulting in straight lines and not the often wavy lines that are too inaccurate for credit. So, one mark has been gained for the accuracy of height of the bars.


Sticky Note
You are asked to complete the graph. This doesn’t just mean drawing lines at the correct height. You must draw all three bars carefully and colour each according to the key.    






0

Sticky Note
No marks at all for this candidate; both were lost mainly, it would appear, through carelessness.     


Sticky Note
Look carefully. Although diagonal shading has been used for the ‘not at all’ column, the lines are sloping in the wrong direction. This is a completely different symbol to that shown in the key so that mark has also not been given.


Sticky Note
The ‘seriously affected’ bar is inaccurately drawn. It is almost entirely at a lower level than would be accurate. The first mark is not credited.
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	 (c)	 Study the photographs on page 7 of the separate Resource Folder.

(ii)	 Choose one of the uses of a disused quarry that is likely to be a nuisance to 
residents of a local village. Circle your choice.	 [4]

		  A B C D

Explain why it could be a nuisance:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

© WJEC CBAC Ltd.
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Sticky Note
This final statement is too vague to suggest where the effect would be felt. The activities would take place in the quarry and not the village streets, so the effects described would be unlikely to affect the local residents. The candidate would have to have written more about the noise issue, by possibly referring to the ways in which different groups of villagers might be specifically affected or by exploring another negative effect on the villagers, like road congestion caused by visitors coming to events in the quarry.


Sticky Note
The second mark is for directly relating it to the villagers by stating that the people would ‘like quiet’.


Sticky Note
The first mark is for reference to ‘noise’ pollution. There wouldn’t be any credit for just saying ‘pollution’.


Sticky Note
There are four marks for this question and you must take charge of how you organise your response. Note the important elements of the question. You must only write about one possible future use. You are being asked about ‘a nuisance’, negative effects. These are effects on ‘residents of the local village’. Don’t write about anyone else.






3

Sticky Note
The candidate continues along the noise theme and quotes a named local business activity and suggests that the customers of hotels and restaurants wouldn’t want to eat in a loud place. The examiner has given the candidate the benefit of doubt here and has awarded a mark for the fact that a local business could lose customers. The final mark has not been awarded as the candidate hasn’t stated what the effect might be.


Sticky Note
The first two marks are for writing about noise and its elaboration in terms of the effects on the local residents; people who become annoyed and frustrated’.




(4242-02) Turn over.

11
Examiner

only

I have chosen this option because

© WJEC CBAC Ltd.

Tick (√)

allow limestone quarrying to continue

stop limestone quarrying continuing

Use the information in your matrix on page 10 to write a letter to the Peak District National Park 
planners. You may also use information from other parts of this paper and ideas of your own.

You should explain why you have chosen this option in terms of its social, economic and 
environmental effects.

Marks for spelling, punctuation and the accurate use of grammar are allocated to this question.
[11+4]

To the Peak District National Park planners

I am writing to advise you to:
11 4







10 3

Sticky Note
This question is marked through the use of a ‘levels’ mark scheme. To rise out of Level 1 there must be some elaboration of simple statements for at least one of the following; social, environmental, economic effects. To get into Level 3 there must be some elaboration of two of these elements.


Sticky Note
Here the candidate explores economic effects and briefly touches briefly on social effects. Level 2 has been achieved.


Sticky Note
This candidate starts well by recognising that there are points both for and against the chosen option of 'allowing limestone quarrying to continue'.


Sticky Note
This is a separate mark out of 4 for the accuracy of your spelling, punctuation and use of grammar. Take great care to express yourself well and pay particular attention to all of your spelling, not just the  geographical terms.


Sticky Note
Read the instructions carefully. You must write in terms of the three types of effects shown here.


Sticky Note
You have completed the matrix to help you organise your letter. The letter you will write will use information from the matrix and other material you have worked on in the first hour of the examination to help you solve the problem as to what should be done about limestone quarrying in future. It is expected that you will also introduce some ideas of your own. You are to make a straight choice between allowing the quarrying to continue and not allowing it to be done in future.   




Sticky Note
Spelling, punctuation and grammar were all of a very high quality and some geographical terms were used correctly, resulting in the award of 3 of the possible 4 marks.  


Sticky Note
A score of 10 out of a possible 11 marks were awarded. What would you do to convert it to a maximum score?


Sticky Note
The candidate completes the letter with a clear statement that demonstrates understanding of the longer term aspects of quarrying. 


Sticky Note
The economic benefits, this time to the country as a whole, are now explored and a mark within Level 3 is reinforced.


Sticky Note
The social effects are now explored in much greater detail with some discussion of the positive multiplier. This will now be credited in Level 3. 
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Sticky Note
The original ‘danger’ statement of has been repeated.


Sticky Note
This statement is given to the candidates and there is no added elaboration.


Sticky Note
The candidate has opened with a vague statement.




Sticky Note
The candidate has scored a mark of 5 for the geography and 1 for spelling, punctuation and grammar. The spelling is mainly accurate but there are a number of punctuation and grammatical mistakes. The answer is almost wholly lacking in the effective use of geographical terms. 


Sticky Note
There is never any credit for references to unqualified pollution. The ‘looks poor’ has already been credited and the ‘smell’ reference has no basis in the evidence provided.


Sticky Note
The candidate has returned to making vague statements that are not backed up by evidence from the examination paper or resources.


Sticky Note
The candidate has clearly recognised a negative economic effect on the local area and has elaborated it. Level 2 has been attained.
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UNIT 4242/02 – Unit 2 Section B Foundation Tier 


Part A 


Question Rationale Expected answer 
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(a) Study the map on page 2 of the separate Resource Folder 
(iii) Give one other piece of 


map evidence that may 
help explain why the Peak 
District National Park has 
large numbers of visitors .  
Explain why it may help. 


Credit one piece of map evidence for one 
mark, its simple explanation for a second 
mark and its elaboration for a third. 


Nearness to / close to 
Manchester/Sheffield/Birmingham (1) which 
are major settlements (1) means many people 
who can get there quickly/easily/cheaply (1) 
meaning little competition from other NPs (1) 


2 1 3 
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Part B 


Question Rationale Expected answer 
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(b) The graph below shows how badly some Peak District industries are affected by quarrying. 


(i) Complete the graph using 
the following figures.  


Credit one mark for accurate drawing of 
each bar and one for correct shading. 
Wrong column order = max 1 mark. 


2 2 
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Question Rationale Expected answer 
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(c) Study the diagram on page 7 of the separate Resource Folder 


(ii) Choose one of the uses of 
a disused quarry that is 
likely to be a nuisance to 
residents of a local village.  
Explain why it could be a 
nuisance. 


Credit either four separate nuisances or 
a combination of nuisances and 
elaboration. 


4x1 mark 
2x2 mark 
1 mark + 3 mark 


Do not credit choice of activity. 


All marks are available via all options 


irrespective of choice made in (c) (i) 


Mountain biking: 
Motor Cross:  causes regular noise pollution 
(1) 
disturbing the peace of village life (1). 
increase visitor traffic on local road (1) 
increasing danger (1) 
Fishing lake: 
Caravan site:  noise from site (1) may disturb 
locals (1) 
Increase visitor traffic on local roads (1) 
increasing danger (1)  


2 2 4 
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PART C 
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Question.   In this part you will advise the PDNP Planning Board as to whether or not limestone quarrying should continue in the National Park after 
present quarrying licenses run out. 
 


3 7 1 4 15 


TOTAL for Unit 2B Foundation 17 24 9 4 64 
 


Award 0 marks if the answer is incorrect or irrelevant. 
 


LEVEL DESCRIPTORS FOR PART C 


Level 1 
1-3 marks 


The candidate's response contains little specific detail about the area. There is no elaboration beyond that provided directly by the sources.  
Communication is basic: there is little or no structure and/or ideas are communicated in brief statements/bullet points. 


Level 2 
4-7 marks 


 


The candidate's response contains some specific detail about the area and options. There is some elaboration of ideas beyond that provided by the 
sources.  
Information is communicated by brief statements.  There is a basic structure.  There is some accuracy of spelling, punctuation and grammar. 


Level 3 
8-11 marks 


The candidate presents a letter that provides advice. Two of Social, Economic and Environmental effects are elaborated and a clearly explained 
decision is made.  
Communication is clear and logical. Spelling, punctuation and grammar have considerable accuracy.                                             


 


Performance descriptions spelling, punctuation and the accurate use of grammar 
 


0 Candidates do not reach the threshold performance outlined in the performance description below. 


Threshold 
performance 


1 mark 


Candidates spell, punctuate and use the rules of grammar with reasonable accuracy in the context of the demands of the question. Any errors do not 
hinder meaning in the response. Where required, they use a limited range of specialist terms appropriately. 


Intermediate 
performance 
2 - 3 marks 


Candidates spell, punctuate and use the rules of grammar with considerable accuracy and general control of meaning in the context of the demands 
of the question. Where required, they use a good range of specialist terms with facility. 


High 
performance 


4 marks 


Candidates spell, punctuate and use the rules of grammar with consistent accuracy and effective control of meaning in the context of the demands of 
the question. Where required, they use a wide range of specialist terms adeptly and with precision. 
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Marking Procedure for Part C 
 


 This section is marked using a process of best fit where the candidate response is compared to levels of response mark scheme. Levels marking should be 
applied working upwards from the lowest to the highest level.  The mark scheme comprises a number of hurdles that must be jumped in order to access marks 
within a level. 


 


     Award QWC as an integral part of a best fit decision when making a judgement on the level. 
 


 In levels marking candidates are credited for the quality of their answers, as opposed to merely crediting the number of responses they make.  Remember that 
you should apply no ticks when marking this section. Mark the letter by indicating in the text where a contribution to a particular level has been made. 


 


 Candidate responses in the letter and matrix should be considered together.  As the degree of integration for a Level 3 response falls outside that possible to 
demonstrate in the matrix alone, marks in the highest level may, therefore, only be awarded to candidates who have completed the letter. 


 


 As you are marking the letter, mark the first elaborated reference to: 
 
Social with an S 
Economic with an E   
Environmental  with EN  


 
The candidate must attain at least two of the above elements with elaboration beyond that relating directly to the Factfile to access Level 3.  Further elaboration, 
exploration of a third element, a consideration of both long and short term impacts or a consideration of alternative views, or meaningful use of imported parallel case 
study information will trigger higher marks in the level. 
 


 If the candidate scores fewer than 7 marks in the letter look at the matrix.  Apply a levels mark (L1 or L2) in the text wherever you judge a statement at that level 
has been written. 


 


 Write a statement at the bottom of the matrix to indicate the overall level so far attained e.g. low/middle/high Level 1/Level 2. 
 


 Credit the higher of the two marks gained by either the letter or matrix. 
 
Award 0 marks if the answer is incorrect or irrelevant. 
 
Once a mark (out of 11) has been awarded for the geographical content, award an additional mark (out of 4) as an assessment of the spelling, 
punctuation and the accurate use of grammar. 
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